Bhagavad-Gita

Chapter 2 Work Sheet

A. Relationship between Krishna and Arjuna

Changes from ______________ to guru/disciple

1. Krishna chastises Arjuna for his misplaced ________________ by calling him

a) _____________

b) _____-Aryan

Analogy: saving the dress of a drowning man.

Analogy: three phases of Absolute Truth compared to the sun.

2. Arjuna is ____________ and has lost his composure. Why?

a) due to ______________ weakness

3. Arjuna accepts Krishna as _________.

B. Jnana – the soul is eternal, whereas the body is temporary

1. Krishna and the living entities are eternally _____________

Defeats: Krishna’s individuality is material. How?

a) Krishna affirms His __________ in the past, present and future

b) If Krishna is deluded, BG is not __________________

Defeats: After liberation the soul merges into Brahman. How?


        The soul is eternally _________________ (ref:15.7)

2. The Mayavadi explanation of the Bhagavad-gita is misleading

Analogy: Bee licking the outside of the honey jar.

3. The soul is __________, or sat, whereas the body is __________, or asat.

One who realizes this is called ______________ or _________________

a) he is ______________ by the change of body

b) he _______________coming and going of happiness and distress

c) he is eligible for ___________________

d) Analogy: change of body compared to change of dress.

Example: the body changes from youth to old age but the soul does not

4. Characteristics of the soul

a) symptom of the soul is _______________________

b) size of the soul is _____________________

c) unborn

d) indestructible

e) unchangeable

f) cannot be burned, dried, wet, or ________________

Defeats: The soul merges into Brahman after liberation. How? The soul cannot be cut. Therefore, it cannot be separated from Brahman, nor __________into Brahman. The soul is unchangeable. Therefore it cannot merge. It is eternally individual.

g) immovable

h) all-pervading

Defeats: There is no life on other planets. How?

If the soul is present everywhere and cannot be _________, then he can be present on the sun planet.

i) invisible

j) inconceivable

Analogy: two birds in the same tree compared to soul and Supersoul.

Analogy: sparks of fire compared to soul.

5. Having knowledge that the soul is eternal does not encourage ____________ of the body.

Why not?

a) _________________ killing is condemned by Vedic scriptures

b) _________________ has its utility and one may use it only if Krishna directly orders it according to religious principles

Analogy: judge awarding capital punishment.

Analogy: surgeon using violence to cure patient.

6. Conclusion: The soul is___________ and cannot be ______________, and the body is temporary and cannot be saved. Therefore, Arjuna should not lament, but do his duty and fight.

C. If Arjuna accepts the atheistic philosophy that life develops from chemicals, there is no need to lament.

Why not? No one laments the loss of some chemicals.

D. Karma-kanda – Arjuna should do his duty as a ksatriya and fight
Even if Arjuna identifies with his body, because he has a ksatriya’s body, he should fight. Krishna defeats two of Arjuna’s arguments.

1. Enjoyment

How? By fighting, Arjuna will either enjoy earth or die and go to heaven.

2. Fear of _________reactions

How? By neglecting his duty, Arjuna will get sinful reactions (an infamy)

Example: fighting for a ksatriya compared to a brahmana doing fire sacrifice

E. Buddhi-yoga – devotional service to Krishna
1. Characteristics of devotional service

a) once performed, is never ______

b) protects one from greatest ________

c) one has resolute _________

2. Obstacles to determination

a) attachment to material __________

b) attachment to _________________

3. Relationship t o Vedas

a) freedom from sinful _________________

b) ________________ to Vedic rituals

c) ________________ from birth and death

d) samadhi – realization of one’s ______________with Krishna

e) going ________ ___ ______________

Ref: 9.27-28.

4. Result of performing devotional service

F. Symptoms of transcendence
1. Gives up material ______________. How?

Takes pleasure in the self – has a higher taste

Analogy: Satisfied hunger.

Example: Yamunacarya.

2. ________________ in happiness and distress. How?

Accepts everything as Krishna’s ______________

3. Unaffected by good and __________. How?

Is always daring and active for Krishna’s service whether successful or not

4. Detached – free from _______________, fear and anger.

Analogy: Tortoise and devotee

Analogy: serpents compared to senses.

5. One who is Krishna conscious may easily fall down. How?

a) by contemplating the __________________, one develops attachment, then lust, anger, delusion, ____________bewildered, _____________, then falldown

b) by artificial_____________ of senses, while mind dwells on sense objects

analogy: diseased patient restricted from food

c) he cannot _______________ life

result: a slight ______________ of the mind makes him fall down

analogy: boat swept away by wind compared to senses taking away intelligence

Example: Visvamitra

Ref: 3.6-8, 5.3, 5.6

d) cannot have peace. Why?

He has no relationship with Krishna

6. Devotees control the senses by following the ___________________________________

Result:

a) freedom from attachment and _______________________

b) attainment of ____________ of Krishna

c) enjoys life because ______________everything to Krishna and accepts everything as Krishna prasadam

d) attains peace. How?

is desireless – desires everything for Krishna’s satisfaction

analogy: rivers entering ocean compared to devotee detached from desires entering the mind

e) attains Brahman. How?

Devotional service is non-different from being in the spiritual world

Examples: Ambarisa, Haridas Thakura

Analogy: night for materialist is day for a devotee

